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6. One of the following elements is  
classified atomic 

A) Neon 

B) Hydrogen 

C) Oxygen 

D) Chlorine 
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7. The correct name for Mg2N3 is  

A) Magnesium trinitride. 

B) Manganese nitrate. 

C) Magnesium nitrate. 

D) Magnesium nitride. 
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9. What is the formula for the ionic compound 
formed between barium and phosphate ions?  

A) Ba2(PO4)3 

B) Ba3(PO4)2 

C) Ba3(PO3)2 

D)       BaPO4 
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10. How many moles of hydrogen atoms are 
there in 1.87 moles of C8H18?  

A)       15.0 mol 

B) 9.0 × 1024 mol 

C) 33.7 mol 

D) 1.87 mol  
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11. A double bond consists of ………………pairs of 
electrons shared between two atoms.  

A)  1  

B)  2  

C)  3  

D)  4  
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12- Which of the following determines the 
identity of an atom? 

A) Number of protons 

B) Number of electrons 

C) Number of neutrons 

D) Total number of protons and neutrons 
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15. Which is the correct formula for 
potassium sulfate? 

A)     K(SO4)2 

B) CaSO4 

C) K2SO4 

D) KSO3 
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17. The empirical formula of a compound is C2HCl and its    
        molar mass is 181.44 g/mol. What is the molecular 
        formula of the compound? 

A) C4H3Cl3 

B) C5H3Cl3 

C) C6H4Cl4 

D) C6H3Cl3 
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18. Compound contains 74.03% C, 8.70% H, 
 and 17.27% N. What is the empirical formula 
 of the compound?  

A) C5H7N 

B) C4H8N2 

C) C6H6N3 

D) C4H7N 
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19. When balance the  following equation, 
the coefficient of O2 is  

 

__ C2H4 + __ O2  __ CO2 + __ H2O 

A) 1. 

B) 2. 

C) 3. 

D) 4.  
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26. A ………………….. covalent bond between the 
 same two atoms is the longest.  

A)  single  

B)  double  

C)  triple  

D)  strong  
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31.Consider the following reaction: 

2 2 34Al (s)  3O  (g) 2Al O  (s) 

If the reaction of 2.5 g of Al with 2.5 g of  O2 produced 
3.5 g of Al2O3 .  The % yield of the reaction is   

A)  74 % 

B)  37 %  

C)  47 % 

D)  66 % 
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A) 0 

B) +1 

C) +2 

D) +3 

4 Fe + 6 H2O + 3 O2 → 4 Fe(OH)3 

32- According to the following balanced 
reaction, what is the oxidation state of 

the Fe? 
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33. How many grams of sodium are there in 8.5 g 
of  Na3PO4?  

A)        2.8 g 

B) 1.2 g 

C) 25.5 g 

D) 3.6 g  



33. How many grams of sodium are there in 
8.5 g of Na3PO4?  

A)        2.8 g 

B) 1.2 g 

C) 25.5 g 

D) 3.6 g  







A) 416 ml 

B) 6000 ml 

C) 3000 ml 

D) 2.4 ml 

35. To what volume (ml) should you dilute 
 50.0 ml of a 12 M stock HNO3 solution to 
 obtain a 0.10 M HNO3 solution 
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37. The Lewis dot symbol for the Cl- is 
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38. Which of these atom is the most 
electronegative?  

A) Li 

B) Cs 

C) P 

D) As 
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